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Few people are sitting in a row facing North. 3
persons are sitting between M and N. K is third to
the right of N. K is second to the left of P. Number of
people between M and P is same as the number of
people between M and L. Only three people sit to the
left of L. Six persons sit between L. and J. Two people
sit between P and R. R is sitting at the second
position from one of the ends. 1
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Few people are sitting in a row facing North. 3
persons are sitting between M and N. K is third to
the right of N. K is second to the left of P. Number of
people between M and P is same as the number of
people between M and L. Only three people sit to the
left of L. Six persons sit between L. and J. Two people
sit between P and R. R is sitting at the second
position from one of the ends. 1.

How many persons are sitting in the row?

a. 27

b. 28

c. 19

d. 18

e. 26



Few people are sitting in a row facing North. 3
persons are sitting between M and N. K is third to
the right of N. K is second to the left of P. Number of
people between M and P is same as the number of
people between M and L. Only three people sit to the
left of L. Six persons sit between L and J. Two people
sit between P and R. R is sitting at the second
position from one of the ends. 1.

What is the position of J with respect to M?

a. 2nd to left

b. 3rd to right

c. 2nd to right

d. 3rd to left

e. Immediate left



Few people are sitting in a row facing North. 3

persons are sitting between M and N. K is third to

the right of N. K is second to the left of P. Number of

people between M and P is same as the number of

people between M and L. Only three people sit to the

left of L. Six persons sit between L. and J. Two people

sit between P and R. R is sitting at the second

position from one of the ends. 1.

How many persons are sitting between M and P?

a. 9

.12

. 8
7
10
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Few people are sitting in a row facing North. 3
persons are sitting between M and N. K is third to
the right of N. K is second to the left of P. Number of
people between M and P is same as the number of
people between M and L. Only three people sit to the
left of L. Six persons sit between L and J. Two people
sit between P and R. R is sitting at the second
position from one of the ends. 1.

Which of the following statements is true?

a. J sits to the right of K.

b. Seven people are sitting between N and R.

c. Less than 10 people sit between P and L.

d. 9 people sit between J and P.

e. None of the statements is correct.



Few people are sitting in a row facing North. 3
persons are sitting between M and N. K is third to
the right of N. K is second to the left of P. Number of
people between M and P is same as the number of
people between M and L. Only three people sit to the
left of L. Six persons sit between L. and J. Two people
sit between P and R. R is sitting at the second
position from one of the ends. 1.

How many people are sitting to the left of K?

a. 19

b. 8

c.9

d. 15

e. 12



8 people D, E, F, G, H, I, J and K are sitting around a square
table in such a way that four of them sit at the corners while
four of them sit in the middle of each of the four sides. The
ones sitting in the middle of the sides are facing the centre and
the ones sitting at the corners are facing outside. F sits second
to the right of G and only 3 people sit between F and J. Only 1
person sits between J and I (either from left or right). D sits
second to the left of K and is neither an immediate neighbour
of I nor of J. Only 3 people sit between D and E. E does not sit

% of the corners of the table.
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8 people D, E, F, G, H, I, J and K are sitting around a square
table in such a way that four of them sit at the corners while
four of them sit in the middle of each of the four sides. The
ones sitting in the middle of the sides are facing the centre and
the ones sitting at the corners are facing outside. F sits second
to the right of G and only 3 people sit between F and J. Only 1
person sits between J and I (either from left or right). D sits
second to the left of K and is neither an immediate neighbour
of I nor of J. Only 3 people sit between D and E. E does not sit
at any of the corners of the table.

Who sits 3rd to the right of H?



8 people D, E, F, G, H, I, J and K are sitting around a square
table in such a way that four of them sit at the corners while
four of them sit in the middle of each of the four sides. The
ones sitting in the middle of the sides are facing the centre and
the ones sitting at the corners are facing outside. F sits second
to the right of G and only 3 people sit between F and J. Only 1
person sits between J and I (either from left or right). D sits
second to the left of K and is neither an immediate neighbour
of I nor of J. Only 3 people sit between D and E. E does not sit
at any of the corners of the table.

What is the position of I with respect to E?

a. 2nd to the right

b. 3rd to the left

c. immediate right

d. immediate left

e. 2nd to the left



8 people D, E, F, G, H, I, J and K are sitting around a square
table in such a way that four of them sit at the corners while
four of them sit in the middle of each of the four sides. The
ones sitting in the middle of the sides are facing the centre and
the ones sitting at the corners are facing outside. F sits second
to the right of G and only 3 people sit between F and J. Only 1
person sits between J and I (either from left or right). D sits
second to the left of K and is neither an immediate neighbour
of I nor of J. Only 3 people sit between D and E. E does not sit
at any of the corners of the table.

Which of the following statements is/are true as per the given
arrangement?

I. G is facing inside.

II. H is an immediate neighbour of J.

III. G is sitting to the immediate left of K.

a. Only I follow.

b. Only II follow.

¢. Only III follow.

d. Both I and II follow.

e. Both II and III follows.



8 people D, E, F, G, H, I, J and K are sitting around a square
table in such a way that four of them sit at the corners while
four of them sit in the middle of each of the four sides. The
ones sitting in the middle of the sides are facing the centre and
the ones sitting at the corners are facing outside. F sits second
to the right of G and only 3 people sit between F and J. Only 1
person sits between J and I (either from left or right). D sits
second to the left of K and is neither an immediate neighbour
of I nor of J. Only 3 people sit between D and E. E does not sit
at any of the corners of the table.

Which of the following does not belong to the group?

a. K

.J
.G
|
N ¢
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8 people D, E, F, G, H, I, J and K are sitting around a square
table in such a way that four of them sit at the corners while
four of them sit in the middle of each of the four sides. The
ones sitting in the middle of the sides are facing the centre and
the ones sitting at the corners are facing outside. F sits second
to the right of G and only 3 people sit between F and J. Only 1
person sits between J and I (either from left or right). D sits
second to the left of K and is neither an immediate neighbour
of I nor of J. Only 3 people sit between D and E. E does not sit
at any of the corners of the table.

How many people sit between K and J when counted from the
right of J?

a. Four

b. Five

c. Six

d. None

e. Two



C,D,H,N, P, S and U are seven members of a family. D is
the mother of F, N is the son of F. H is the only sister of N
and U, S is the father of U. S is the son of C.

C,D, H, N, P, S 3R U Ush UNER & ATd 9T 8| D, F <hi At
2, N, F T 81 H, N 3i U sl UshHTS 92 2, S, U o7 e 21
S, C HT U 31

If P is the father-in-law of F, then how is C related to U?
a. Grandmother

b. Grandfather

c. Father

d. Mother

e. Can’t be determined



C,D,H,N, P, S and U are seven members of a family. D is
the mother of F, N is the son of F. H is the only sister of N
and U, S is the father of U. S is the son of C.

C,D, H, N, P, S 3R U Ush UNER & ATd 9T 8| D, F <hi At
2, N, F T 81 H, N 3i U sl UshHTS 92 2, S, U o7 e 21
S, C HT U 31

How is H related to F?
a. Son

b. Daughter

¢. Husband

d. Wife

e. Father



C,D,H,N, P, S and U are seven members of a family. D is
the mother of F, N is the son of F. H is the only sister of N
and U, S is the father of U. S is the son of C.

C,D, H, N, P, S 3R U Ush UNER & ATd 9T 8| D, F <hi At
2, N, F T 81 H, N 3i U sl UshHTS 92 2, S, U o7 e 21
S, C HT U 31

How is N related to D?
a. Grandson

b. Wife

¢. Daughter

d. Granddaughter

e. Son



Statement:
AZ2B>F;B>M>0;F>S;R<S

Conclusion:

I.S<A
ILF<O

a. Only conclusion I follows.

b. Only conclusion II follows.

c. Either conclusion I or II follows.
d. Both conclusions I and II follow.
e. Neither conclusion I nor II follows.



Statement:
DSR>ESB;SSM=E>D;G>B

Conclusion:

I.D>G
II. B<R

a. Only conclusion I follows.

b. Only conclusion II follows.

c. Either conclusion I or II follows.
d. Both conclusions I and II follow.

e. Neither conclusion I nor II follows.



Statement:
ESS>FSC; TSEN=F>E; H>C

Conclusion:

I.T<C
ILC=T

a. Only conclusion I follows.

b. Only conclusion II follows.

c. Either conclusion I or II follows.
d. Both conclusions I and II follow.

e. Neither conclusion I nor II follows.



Statement:
M=L2N2Q<P<VZ2S;:Q0>G

Conclusion:

.G2S
II.M>G

a. Only conclusion I follows.

b. Only conclusion II follows.

c. Either conclusion I or II follows.
d. Both conclusions I and II follow.
e. Neither conclusion I nor II follows.



Statement:
Q>A2ZSXSC;ZZ2H

Conclusion:

.Q>H
IN.ZSC

a. Only conclusion I follows.

b. Only conclusion II follows.

c. Either conclusion I or II follows.
d. Both conclusions I and II follow.
e. Neither conclusion I nor II follows.



Statement:
Q>A2ZSXSC;ZZ2H

Conclusion:

.Q>H
IN.ZSC

a. Only conclusion I follows.

b. Only conclusion II follows.

c. Either conclusion I or II follows.
d. Both conclusions I and II follow.
e. Neither conclusion I nor II follows.



There are 9 boxes kept one above the other. There are 5
boxes between box P and box R. Box T is kept immediately
above R. 3 boxes are kept between box T and box S.
Number of boxes between P and S is same as the number of
boxes between T and Q. Box U is kept below box Q. Box W
is kept somewhere below X. There is only one box kept
between U and V. U is above V.
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There are 9 boxes kept one above the other. There are 5
boxes between box P and box R. Box T is kept immediately
above R. 3 boxes are kept between box T and box S.
Number of boxes between P and S is same as the number of
boxes between T and Q. Box U is kept below box Q. Box W
is kept somewhere below X. There is only one box kept
between U and V. U is above V.

Which of the following statements is not true?

I. There are two boxes between T and Q.

IL. S is kept below W.

III. U is kept immediately above P.

a. Only I

b. Only 11

c. Only III

d. Both II and III

e. All I, II and I1I



There are 9 boxes kept one above the other. There are 5
boxes between box P and box R. Box T is kept immediately
above R. 3 boxes are kept between box T and box S.
Number of boxes between P and S is same as the number of
boxes between T and Q. Box U is kept below box Q. Box W
is kept somewhere below X. There is only one box kept
between U and V. U is above V.

To which of the following is U related in the same manner?
a. W

. R
.S
T
X

oo o
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There are 9 boxes kept one above the other. There are 5
boxes between box P and box R. Box T is kept immediately
above R. 3 boxes are kept between box T and box S.
Number of boxes between P and S is same as the number of
boxes between T and Q. Box U is kept below box Q. Box W
is kept somewhere below X. There is only one box kept
between U and V. U is above V.

How many boxes are kept between X and P?

a. Five

b. Two

c. Three

d. Four

e. None



There are 9 boxes kept one above the other. There are 5
boxes between box P and box R. Box T is kept immediately
above R. 3 boxes are kept between box T and box S.
Number of boxes between P and S is same as the number of
boxes between T and Q. Box U is kept below box Q. Box W
is kept somewhere below X. There is only one box kept
between U and V. U is above V.

Which of the following pair of box is kept immediately
above and below box Q respectively?

a. XS

b. SX

c. RW

d. WR

e. None of these



There are 9 boxes kept one above the other. There are 5
boxes between box P and box R. Box T is kept immediately
above R. 3 boxes are kept between box T and box S.
Number of boxes between P and S is same as the number of
boxes between T and Q. Box U is kept below box Q. Box W
is kept somewhere below X. There is only one box kept
between U and V. U is above V.

What is the position of box W in the given arrangement?

a. Between P and V

b. Fourth from the top.

¢. Sixth form the bottom.

d. Fourth from the bottom.

e. Between R and Q.
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